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H27 |He8 [H29 [H30 [H31
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A05-002 N= | | | | | 300 |1.5
NN 30|
A04-003 N=3 [ B B B 370 (5.9
L=203m
A04-004 N=4 [ B B B 311 (1.1
L=1,894
A04-005 N=2 [ B D B B | 329 (4.1

L=511m




H27 |He8 [H29 [H30 [H31

A04-006 N=1 . 160 2.0
L=198m

A04-007 N=1 m | m|m|m 125 (9.5

A04-008 N=1 e 150 |5.6

A04-009 N=5 e 833 (2.8

A04-010 N=1 m | m|m|m 300 |2.6

A04-011 N=1 . 186




H27 |He8 [H29 [H30 [H31

A04-012 N=1 [ I 200
A04-013 N=4 [ I 110|2.8
A04-014 N=1 u 7414.2
A04-015 1 LI B B 300
[T T [ [ o]
A06-016 L=180 u 34
A06-017 L=155 | I 95
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[ L[] 129
A04-018 ] ] ] ] ] 250
A04-019 ] ] ] ] ] 250
A04-020 ] ] ] ] ] 500

N 1,00
A06-021 L=130m A=2,000m2 ] 25
A06-022 A=1,800m2 | B B 150




H27 |He8 [H29 [H30 [H31

RN 175 |
A04-023 N=1 m = 80]7.5

L] 80 |
A05-024 n n [ [ n 300|1.4
A05-025 | . | . | . | . | 1,ooo|1.2

L L[ [ 10
£06-026 A 1,500m2 . 50
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H27 |He8 [H29 [H30 [H31

C06-001

18




H27 |He8 [H29 [H30 [H31

D17-001

0.45km2

30




H27 H28 H29
©) 562 553 376

() 0 0 0

(c=a+h) 562 553 376
(d) 404 248 322

®) 718 479 454

) 248 322 244

) 42 43 61

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 4.34 5.36 8.73

10
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